
攘攘攘黠黯路蘸蹭黯蘸蟠黯蘸磁靡戳攫瞎蹭黯器
Group A 

BALL VALVE 6" X 300 RF AI05N ,FULL BORE,FORGED ASTM Number 3 
A350/CAST ASTM A352 GR LCB ,BOLTED,TRIM SS316,TRUNION 
MOUNTED ,ANTI STATIC BLO认TOUT，FIRE SAFE TO 
BS6755/API607/API6FA,ANSI FLANGED END TO ANSI B16.5 ,API 6D OR 
BS-535 1. 
GLOBE, VALVE, 3/4" , 1500#, THR (ASME BI6.11), OS & Y, BOLTED Number 2 
BONNET & GLAND, RENEW ABLE SEATS , HAND认咀EEL， API 602 , 
ASTMA-216GR.316. IP# IASSYVALVE, GATE. 
GLOBE, VALVE, 8" , 900#, RTJ (ASME BI6.5), OS & Y, BOLTED BONNET Number 1 
& GLAND, RENEWABLE SEATS , HANDWHEEL, BS 1873 , ASTM A-216 
GR.认TCB. IP# IASSY V ALVE, GA TE. 

问 VALVE, BALL, 4" , CLASS 600, RTJ，认TITH MANUAL GEAR BOX SIDE Number 2 
ENTRY, FLANGE END FULL BORE API 6D TRIM MATERIAL, NACE 
MR-0175，认TITH COMPANION FLANGES SCH-80, A-I05 TRUNION 
MOUNTED MATCH GASKET STUD & NUTS. 
VALVE, BALL, 8" , API 6D , CLASS 900#, FLANGED END RTJ, FULL Number 9 
BORE, TRUNNION MOUNTED, SPLIT BODY, GEAR OPERATED, BODY 
MAT. FORGED CARBON STEEL AI05N, TRIM MAT. BALL,STEM,SEAT 
RING ASTM A182 F316, SEAT INSERT: PEEK, NACE MR 0175 

b VALVE, GATE, 3/4" S.认T.X THDD. 800# API 602, OS&Y, BOLTED Number 5 
BONNET & GLAND SOLID 认TEDGERENE认TABLE SEATS , HAND-
认THEEL， BODY: ASTM A-I05 NORMALIZED DISC STEAM & SEAT 
RINGS l3% CR, HF SEAT IASSY VALVE, GATE 

7 V ALVE,BALL 6" ,600#,RF,FULL BORE,FORGED ASTM A350/CAST ASTM Number 3 
A352 GR LCB ,BOLTED,TRIM SS316,TRUNION MOUNTED ,ANTI STATIC 
BLO认TOUT，FIRE SAFE TO BS6755/API607/API6FA,ANSI FLANGED END 
TO ANSI B 16.5,API 6D OR BS-535 1. 

8 VALVE,BALL,MANUAL "ORBIT",3"X2" ,ANSI 600 RF,FIG Number 1 
NO.1533MHRTJ,SERIAL NO.1146065 TO 1146066. IP# IASY BALL 
V AL VES MANUAL 

9 VALVE，GATE，3/4" ，S认T X THD ,CLASS 1500,CS ,ASTM A-I05 ,ANSI Number 18 
B 16.11 ,API 602 TRIM SS316. 匹啃 IASY GATE V ALVES 

10 BALL VALVE, RTJ, 8" , 600 CLASS , BOLTED BODY, REPLACEMENT Number 
BALL & SEATS, REDUCE BORE, FLOATING BALL, STANDARD LEVER 
OPERATED AS PER ASME B-16.5, BODY MATERIAL A-216 GR 认TCB
STEM/BALL ATERIAL A 351 CF8M , SEAL PTFE, AS PER API 6D FIRE 
SAFE, ANTI 

11 BALL VALVE, RTJ, 4" , 600 CLASS , BOLTED BODY, REPLACEMENT Number 4 
BALL & SEATS , REDUCE BORE, FLOATING BALL, STANDARD LEVER 
OPERATED AS PER ASME B-16.5, BODY MATERIAL A-216 GR 认TCB
STEM/BALL A TERIAL A 351 CF8M. SEAL PTFE. AS PER API 6D FIRE 
SAFE, ANTI 

12 BALL VALVE, RTJ, 3" , 600 CLASS , BOLTED BODY, REPLACEMENT Number 2 
BALL & SEATS, REDUCE BORE, FLOA TING BALL, ST ANDARD LEVER 
OPERATED AS PER ASME B-16.5 , BODY MATERIAL A-216 GR 认TCB
STEM/BALL A TERIAL A 351 CF8M , SEAL PTFE, AS PER API 6D FIRE 

Pα只e 1 SAFE, ANTI 



13 BALL VALVE, RTJ, 2" , 600 CLASS , BOLTED BODY, REPLACEMENT Number 2 
BALL & SEATS , REDUCE BORE, FLOA TING BALL, ST ANDARD LEVER 
OPERATED AS PER ASME B-16.5 , BODY MATERIAL A-216 GR WCB 
STEM/BALL A TERIAL A 351 CF8M. SEAL PTFE. AS PER API 6D FIRE 
SAFE, ANTI 

14 BALL VALVE, RTJ , 1" , 600 CLASS , BOLTED BODY, REPLACEMENT Number 2 
BALL & SEATS , REDUCE BORE, FLOATING BALL, STANDARD LEVER 
OPERATED AS PER ASME B-16.5. BODY MATERIAL A-216 GR WCB 
STEM/BALL A TERIAL A 351 CF8M, SEAL PTFE, AS PER API 6D FIRE 
SAFE. ANTI 

15 BALL VALVE RTJ, 3/4'二 600 CLASS , BOLTED BODY, REPLACEABLE Number 2 
BALL & SEATS , REDUCE BORE, FLOA TING BALL, ST ANDARD LEVER 
OPERATED , AS PER ASME B-16.5 , BODY MATERIAL A-216, GR WCB 
STEM/BALL MATERIAL A 351 CF8M, SEAL PTFE, AS PER API 6D FIRE 
SAFE, 

16 GATE VALVE, RTJ, 2" , 600#, FLANGED END , ASME B16.5 ‘ BB , OS&Y, Number 3 
BOLTED BONNET BODY, GLAND , RENEWABLE SEAT, BODY ASTM 
A-216 GR WCB , TRIM 316 SS , HAND WHEEL OPERATED , ASME B16 .4 

17 GLOBE VALVE RTJ, 2" , 600#, FLANGED END, ASME B16.5 , B.B , OS&Y, Number 
BOL'τED BONET BODY, GLAND , RENEWABLE SEAT, BODTY ASTM A-
216 GR. WCB. TRIM: 316SS , HAND WHEEL OPERATED AS PER ASME B 
16.4 

18 NEEDLE VALVE, 3/4" , 800 #, S.W Number 3 

19 VALVE,BALL,API607 ,3/4" , 150#,RF,BOLTED BODY, FLOATING Number 2 
BALL,CS ,WCB ,A216,A351 ,PTFE,LEVER OPERATED IASSY BALL 
VALVE 

20 BALL VALVE, 6" , 150 LB , RF (S) , REDUCE BORE, BODY ASTM A216 Number 
WCB , BALL ASTM A216 WCB PLUS HARD CHROMIUM COATED. 
STEM. ASTM A182-F6A SEAT. PTFE. DESIGN STANDARD API6D, 
LEVER. 

~1 V ALVE,BALL,3" ,600# RTJ,FULL BORE,BOLTED BODY ,LEVER Number 2 
OPERATED ,TRUNION MOUNTED,ANTI STATIC FIRE SAFE,API 
6D ,ANSI B16.5. IP# IASSY V AL VE , BALL. 

22 V ALVE, CHECK, SWING TYPE, 2" CLASS 600, RTJ, API 6D, BODY Number 2 
MA TERIAL CAST STEEL ASTM A216 Gr. WCB , TRIM MAT: DISC, 
HINGE, SEAT RING: A182 F316, NACE MR 0175. 

23 BALL VALVE RTJ, 6" , 600 CLASS , BOLTED BODY, REPLACEABLE Number 7 
BALL & SEATS , FULL BORE, TRUNION MOUNTED , ST ANDARD GEAR 
OPERATED, AS PER ASME B-16.5 , BODY MATERIAL A-216, GR WCB 
STEM/BALL MA TERIAL A 351 CF8M, SEAL PTFE, API 6D FlRE SAFE, 
ANTISTATIC 

GroupB 
4

工
3
7
0

丐
i

BLIND FLANGE 3/4" X1500 X105N R-14-BDDZ B-16 

FLANGE" WN ,6" ,RTJ,900#"SCH 120"A-694,F52,NACE MR 01-75 ,B 16.5 

FLANGE"WN,6" ,RTJ,900#"SCH 80"A-694 ,F52,NACE MR 01-75 ,B16.5 

FLANGE"WN ,8" ,RTJ,600#,SCH XS ,A105 

Number 

Number 

Number 

Number P~f!e 2 



128 FLANGE，CS ，BLIND ，2" ，RTJ， 1500#""A一105" ，BI6.5 Number 12 

29 FLANGE,CS ,BLIND,4" ,RTJ,900# A一 105 ，BI6.5 Number 

30 FLANGE,CS ,BLIND,6" ,RF,600#A-I05" , Number 

31 FLANGE,CS ,BLIND,8 ",RTJ,900#A-l 05" ,B 16.5 Number 3 

32 FLANGE,CS ,WN,4" ,RF,600#"SCH 40"A-l 05 Number 2 

ß3 FLANGE,CS ,WN,6" ,RTJ,900#"SCH 40"A一 105 ，BI6.5 Number 6 

34 FLANGE ,CS ,WN,8" ,RTJ ,900#"SCH 40"A-I05 Number 10 

35 FLANGE, 1 ",600#, RTJ, SCH 160，引吁词， AS PER ASME B 16.5‘ MATERIAL Number 2 
A-I05 

36 FLANGE BLIND,8" ,600#, RTJ,AS PER ASME BI6.5, MATERIAL A一105 Number 

37 STUDWITHT呗'0 NUTS , SIZE: 7/8" X 145MM, STUD MATERIAL: A-193 Number 78 
GR B7, NUTMATERIAL: A-194 GR. 2H, FLOURO POLYMER COATED , 
IASY. TIE-IN MATERIAL. 

ß8 STUD WITH TWO NUTS , SIZE: 7/8" X 145MM, STUD MATERIAL: A一 193 Number 250 
GR B7, NUT MATERIAL: A-194 GR. 2H , FLOURO POLYMER COATED电
IASY. TIE-IN MA TERIAL. 

39 BOLT,STUD 2 NUT,5/8" X 110,AI93/AI94 ,B7/2H,CADMIUM Number 136 
PLATED,WITH 02 W ASHER IASY STUD BOL TS & NUTS 

40 BOLT,STUD 2 NUT,5/8" X 90,AI93/AI94,B7/2H ,CADMIUM PLATED,WITH Number 56 
02 W ASHER IASY STUD BOLTS & NUTS 

41 BOLT,STUD 2 NUT,3/4" X 100,AI93/AI94,B7/2H,CADMIUM Number 24 
PLA TED,WITH 02 W ASHER IASY STUD BOL TS & NUTS 

42 BOLT,STUD 2 NUT,1I2" X 65 ,AI93/AI94,B7/2H,CADMIUM PLATED,WITH Number 20 
02 W ASHER IASY STUD BOLTS & NUTS 

43 STUDBOLT CAD. PLATED , 1 一 1/8" X 170MM + 2NUTS ,900#, A193 GR,B7 Number 20 
A194 GR,2H IP#,IASY BOLTS & NUTS , STUD BOLTS & NUTS 

44 BOLT,STUD 2 NUT,3/4" X 110,AI93/AI94 ,B7/2H,CADMIUM Number 16 
PLA TED,WITH 02 W ASHER IASY STUD BOLTS & NUTS 

45 BOLT,STUD 2 NUT,3/4" X 125 ,AI93/AI94,B7/2H,CADMIUM Number 78 
PLA TED ,WITH 02 W ASHER IASY STUD BOL TS & NUTS 

46 STUD BOLT,2 NUTS 5/8"XI75 MM.IP# IASY BOLTS & NUTS ,STUD Number 24 
BOL TS & NUTS. 

47 ELBOW,CS ,EQUAL,LR 90 DEG,6""SCH 80"A-234,WPB", Number 24 

陆8 ELBOW",90 DEG ,2" ,SCH 160"A-234川rpB ，BW" Number 16 

49 ELBOW DIA 2" , SCH 80, 90 DEGREE, LR, B.W, ASTM A-234, GR WPB , Number 25 
ASMEBI6.9 
ELBOW,CS"LR 45 DEG,6" ,SCH 80"A-234,WPB ,BW" Number 10 

51 TEE,CS ,REDUCING,8" X 6""SCH 80"A-234,GR. WPB ,BW"BI6.9 Number 2 

52 REDUCING TEE, 4" x 2" , SCH 80 X 160, B.W, ASTM A-234 GR. WPB AS Number 3 
PER ASME B 16.9 
FLANGE,CS ,WN,6" ,RTJ,900#"SCH 80"A一105"NACE MR 01-75 ,BI6.5 Number 2 

54 FLANGE，CS，引吁词，4"，RTJ，900#"SCH 80"A一 105"，B 16.5 , R-37 Number E1Re3 



FLANGE，CS ，WN，6飞RTJ，600#"SCH 80"A-105"NACE MR 01-75 ,B16.5 Number 20 

FLANGE,CS ,WN,4" ,RTJ,600#"SCH 80"A-105",B16.5 Number 12 

FLANGE,CS ,WN ,3" ,RTJ,600#"SCH 80"A-105",B16.5 Number 12 

自8 FLANGE,CS ,WN,2" ,RTJ,600#"SCH 160"A-105" , Numb巳r 24 

FLANGE,CS ,BLIND ,6" ,RTJ ,600#""A-105"NACE MR 01-75 ,B16.5 Numb巳r 4 

而0 FLANGE,CS ,BLIND,6" ,RTJ,900#,,,A-I05 ,,NACE COMPLIANCE,B16.5 Number 2 

悟 l ELBOW ,LR 90 DEG,4" ,SCH 40 ，A-234川rpB ，BW，B16.9 Number 12 

~2 ELBOW，C鼠，LR 90 DEG,3",SCH 80"A-234,WPB ,BW Number 10 

~3 TEE,CS ,EQU AL，6飞，SCH 80"A-234,GR. WPB ,BW" Number 6 

而4 FLANGE,CS ,WN,8" ,RTJ,600#"SCH 80"A-105 Number 

~5 RING TYPE JOINT, SOFT IRON, OCT AGONAL, R-45 , CLASS: 600#, Number 60 
SIZE:6" 
ELBOW" ,LR 90 DEG,4",SCH 80"A-234,WPB ,BW,B16.9 Number 10 

Group C 

~'丁 GASKET SPIRAL WOUND (2") 4.5 如4如1 THK CLASS 150, Flexitallic Sty1e Number 30 
CG Winding Material : SS316L Filler : F1exicarb (F1exible graphite) Outer 
Carbon Stee1 Standard : ASME B 16.20 

悟8 GASKET SPIRAL WOUND , SIZE 6" , CLASS-600, RF,Flexitallic Style: CG Numb巳r 120 
Winding Material : SS316L Filler: Flexicarb (Flexible graphite) Outer: Carbon 
Stee1 Standard : ASME B 16.20 

悟9 RING GASKET R-24 Octagonal Ring , Material SS-316, Standard: ASME B Number 60 
16.~9-， Make: F1exitallic orKlin~l'only 

口。 RING GASKET R-31 Octagona1 Ring , Material SS-316, Standard: ASME B Number 10 
16.20，如1ake: F1exitallic or Klin只er onlv 

口 1 GASKET OCTOGONAL RING, 4" , 600/900#, R-37, 316 SS Number 30 

t72 GASKET OCTOGONAL RING , 3" , 600#, R-31 , 316 SS Number 25 

~3 GASKET OCTOGONAL RING, 2" , 600#, R-23 , 316 SS Number 125 

~4 GASKET OCTOGONAL RING, 1 ", 600#, R-16 , 316 SS Number 20 

口5 GASKET OCTOGONAL RING , 3/4" , 600#, R-163 316 SS Number 24 

~6 RING TYPE JOINT, SOFT IRON, OCTAGONAL, R-49, CLASS: 600#, Number 24 
SIZE:8" 

GroupD 

r77 PIPE,CS ,SEAMLESS ,6" "SCH 80 ，BE，A一 106，GR. B", 如1eter 180 

78 PIPE，CS ，SEA如1LESS ，4""SCH 40,BE,A-106,GR. B", 如1eter 84 

79 PIPE，CS ，SEA如1LESS ，2""SCH 160,BE,A-106,GR. B", 如1eter 120 

80 PIPE，CS ，SEA如1LESS ，2""SCH 80,PE,A-106,GR. B", 如1eter 96 

81 PIPE，CS ，SEA如1LESS， 1""SCH 160,PE,API 5L,GR. B", Number 品。一ρ4



2-3-4 
PIPE,CS ,SEAMLESS ,3/4""SCH 160,PE,A-I06,GR. B" , 

PIPE,CS ,SEAMLESS ,3/4""SCH 80 ,BE ,A-106 ,GR. B"且36 .1 0

PIPE,CS ,SEAMLESS ,3" ,SCH 80,BE,A-I06,GR. B, B36.l 0 

Meter 

Meter 

Meter 

6
-
m

一
封


	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6



